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General Instructions to candidates :

™

There is a ‘cool-off time’ of 15 minutes in addition to the writing time of 2% hrs.
You are not allowed to write your answers nor to discuss anything with others during
the ‘cool-off time’. :

Use the ‘cool-off time” to get familiar with questions and to plan your answers.

Read questions carefully before answering. '

All questions are compulsory and only internal choice is allowed.

When you select a question, all the sub-questions must be answered from the same
question itself.

_Calculations,'ﬁgures and graphs should be shown in the answer sheet itself.

Malayalam version of the questions is also provided.
Give equations wherever necessary.
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L. Classify the following costs into Fixed Costs and Variable Costs. _
'Raw Material Costs, Daily Wages, Interest on capital, Rent, Salary to M.D., Electricity
Charges, Insurance, Transportation Charges. 4
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2. Classify the following statements into two branches of Economics. ' 2
(a) Reliance Communications reduced the STD charges by 20% from November
onwards. '
(b) The Government proposed to reduce the unemployment by introducing IT related
industries.’ ' '

(¢) RBI hiked the cash reserve ratio. _ o
(d) Maruti Udyog decided to inctease the production of the brand Estilo.

®009 ®OMBHNAD  (AITTEIAUDDHOS  TVIMITO D, WSOTDING  6NR)

afleswneangladanan s Om)d:. :

(ag) OleID@BMS @ayemeenamdmy agal.slasl. aldmeneud malomud aymad 20
ROPIMo &h)0alBlonam).

(enfl) pmodleiigpda & jodenmalmog vadean” 9ag).sl. @MW m;rﬁm)o—
wemyd ©)56B00@ ®10}00Mlafldlenyan).

(o) Olaudal e &y0a dlavdal Gosanyd adavlaflal.

() 2o@)®) 963850085  afQYlersd  &HI0)H805 omdalosmo  aidatlajleacad
@030 2,116 YN}

3. The national product can be measured by using expenditure method, income method
and value added method. Prepare the equations to find out GNPy, with these separate

methods. : 6
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4. Keynes suggested a deficit budget for a developing economy but classical economists
supported a surplus budget.
(a) Differentiate the two concepts of budget. _
(b) _ What is your opinion ? Justify your answer. 4
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5. (a) Draw the demand curves of perfect competition and monopoly market situations.
(b) | Give reasons for the different shapes of demand curves in these markets 7 | 3
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6.  Following table shows the AC and total quantity of a firm.
80} 6a0dload wodwdl afleiao, edomiatiglone eanlalenam).

Q [ TFC [TVC | TC | AFC | AVC | AC | MmC
0 20 20 -
! 30
2 19
3 15
4 13
5 | 1

(a) Complete the table.

(b) Plot TFC, TVC and TC on the same set of axis.

{c) Write relevant equatioris to find out AFC, AVC, AC and MC. 8
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7. Two revenue curves of Perfect Competition are given below :
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(a) Identify the revenue curves,
(b} Why one revenue curve passes through the origin ? Substantiate your answer. 3
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10.

1.

In the table some values of TU and MU are given.
TU @0 MU ®@jo aiglaailad exanldlaaimm,.

Units | TU | MU
0 0 0
i 14 -
2 - |
3 36 -
4 | - |7
5 47 -

{a) Complete the table.

(b) Establish the relationship bctween TU and MU _ _

(c) State the equation to find out Marginal Utrlity ' -4
(o)) algld alBOHIWOLO)dh.
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Compared to rural areas, the wage rate 1s higher in urban areas. Discuss the reasons for
this. : 4
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Indian Economy is having a deficit of Balance of Payment Account. Suggest some
measures to improve its Balance of Payment Position ? 3
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How each of the following affects the Production Possibility Curve of an Economy ?

(a) The number of employed workers increase. -

(b) Tsunami destroys some production facilities.
(c) - Introduction of capital intensive technique.
(d) Increase in fuel price. 4
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12. Imagine an economy without money and point out the difficuities faced in the exchange
of commodities. Can you suggest an economic term for that situation 7 - 2 4
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13. Prepare a debate report “Need of Trade Unions in IT sector”, Three points in favour and .
against Trade Unionism, 4
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14. Complete the Chart. : 3
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15. The demand function of commeodity X of three Households are given below :
Household 1 - D, = 50 -~ 5 P,

Household 2 — D 50 - 6 Px
Household 3 — D_= 50 - 3P,
If the values of P_are (5,4, 3,2, 1),

(a) Prepare the Household demand schedule.
(b) Calculate the market demand schedule. _
(c) Draw the three Household demand curves on the same axis. 8
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17. Below is given a Production Possibility Schedule.

RIRYWBB)OS

Production Possibilities
A B C D E F G
Rice Production | 0 | 50 | 75 | 120 /150 | 180 | 210
(Tonnes)
Cotton Production | 350 | 300 ( 250 | 170 100 ] 50 0
(Tonnes) '

(@) Draw the Production Possibility Curve.
(b}  Prepare the Marginal Opportunity Cost in a table based on the PPC.
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18. Provide appropriate terms.
Concepts Terms
(a) Increase in total revenues per unit increase |
in the employment of the factor.
(b) Labour required to produce ome unit of | e
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16. During 'great depression Government across the world are influenced by Keynesian
approach of Government intervention. Do you agree 7 Substantiate your views,

4
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19. Prepare self explanatory charts to explain the various concepts related to National
Income concepts. ' o
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(a) GDP
(b) PCI
(c) NNP
(d) PDI | 2

20. Classify the following items into Revenue Receipts and Capital Receipts.
{(a) Tax revenue
(b} Recovery of loans
(¢) Borrowings
(d) Fees and fines ' ' ' 2
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21, From your experience identify two examples each for the following market forms :
(a) Monopoly -
(b} Monopolistic competition ' : _ 1
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22. A mason decides to purchase a tile cutter by taking a loan of Rs. 2,000 at an annual
interest rate of 8%. From this machine he expects an additional return equals to 15% per
year. '

(a)' What is cost of investment ?

(b) What is returns from investment ?

(¢) Write the Keynesian term for expected return from investment. ' 3
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